
~tra Practice• Sk" , • 111s 
1 
I 

SiJJlplifY each expression. 

J. 5 + (4 X 8) 2. (3 + 7) X 2 (I.J, 1-2) 

4, (40-:- 4) - (9 - 5) s• (30 + 3) X (4 + 2) 3• (30 X 3) + (5 X 2) 

1. 9 + 7 - 2 X 8 + 4 8. 32 + 8 + 3 6. (40 - 4) ...,.. (9 - 5) 
• X 7 - 6 9. 4 X 6 - 16 ...,.. 2 + 7 

Evaluate each expressIOn if e = 2, / = 3 g _ ·4 O·l , 1-2) ev - f ll ' - ' u =O, v =5, and w = t. 
10• • 5g + 4w 12. (uv) + (jg) 
13, ".{v - /) + g 14. (3g) . (e + u) 15. (v - u)w + g 

16. (e + f)(g + v) 17. e(u + v - w) 18. (4e - 2f)(v + w) 

e+g 20. gv - Se 21. f(we + v) + !_19- rl 5 - 3u e 

(1-3),,,,,,.Solve each equation if x E {O I 2 3 4 5 6} 

25. X - X = 024. 8 - X = 322, 7 + X = 12 23. X - 4 = 2 
29. X • X = 3628. 8x = 3226. 6x == 18 · 27. 0 = 5x 

1 .. 33. x · x = Sx
31. 2 

I x = 2 32. 3 x = 2
30. x · x == I 

37. x(9 - x) = 036. 4x = X • 435. 15 = 9x - 334. 3x + 9 == 26 

Translate each phr.1sc into a variable expression. 

38. Three more than twice the number m 

39. Four less than half the number z 

40. Two more than eight times the number k . 

41. The difference of five times a number w and one 

42. Three times the sum of a number h and six (1-4) 

Complete each statement with a variable expression, 

43. In x weeks there are -1- days. 

44. In y yards there are -1- feet. . ? years old.
d F years ago it was _..:..-

45. A house is x years ol · our . '"" y Ray weighs _L lb. 
. 7 lb heavier than •on . 

46, Tony weighs w Jb. Ray is . . , If my car is n years old, then 
th' 0 my sister s car-

47. My car is 5 years older a . 639 
her car is -1- years old. Extra Practice 
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In Exercises 48-50, • d b the word • 
a. Choose a variable to represent the number descnbe Y s m 

parentheses. . t'0 n 
b. Write an equation that repr<'sents the given informa • • 

• , $1 19 (Cost of one pencil in cents) 
48. A package of a d(m~n pencils costs ·- · · 

.~ . (I th of u side in meters)
49. The penmetcr of a square 1s 52 m. .,cng 
50. All but 5 of the :\4 invited guests came to the party · (Number of guests at 

the party) 

lranslate ea<'h problem into an equation. Drawing 8 sketch may help you. 

51. Hem)' is 4 years older than Celia. If the product of their ages is 140, find 

each pen-on 's age. 
52. The length of a rectangle is 5 cm more than its width. If the area of the 

rec1angle is 176 cm2, find the dimensions of the rectangle. 

Solve using the five-step plan. Write out each step. A choice of possible 
numbers for one unknown is given. 

53. The number of tickets Cynthia sold is 12 less than half the number Holly 
sold. Together they sold 114 tickets. How many tickets did each sell? 
Choices for the number Holly sold: 68, 72, 84 

54. Jim weighs 40 lb more than Stephanie. Stephanie weighs three fourths as 
much as Jim. How much does each weigh? Choices for Stephanie's weight: 

100 lb, 118 lb, 120 lb 

Write a number to represent each situation. Then write the opposite of (l-8) 
that situation and write a number to represent it. 

55. 400 ft above sea level 56. A bank withdrawal of $50 

57. Ten losses 58. ScYf:r1 noors up 

Graph the given numbers on a number line. tl-8) 

59. 5, -2, ~, 3, -4 60. - 3, 0 , 1 , - 2.5, 2 

Simplify. (1-9) 

61. -(7 - 4) 62. [-(-8)] + 10 63. 3 + { - ( - 6)1 64. 2+ \-9\ 
65. /-3/ + 101 66. 161 - 161 67- 68. \-4.7\ +\4.7\1-3.21 + 1- 0.81 

Replace each _J_ with one of the s 1 . (1-9)statement. ym >ols < or > to make a true 

69. 9 - 8_?_ - 1 70. 7 __J_ 6 + S 71. \0\ -1- 1 
272. -4.3 _?_ -4.4 73. -(7 + 3) -1_ 1-141 3 ? --74. --;;-=- 7 

640 Extra Practice 



s;,npUfy. 

J. 237 + 75 + 13 + 25 
(2-1) 

3• 0.2 + 16.4 + 2.s + 0.6 2. 456 + 29 + 44 + 21 -
4. 3 75 + 4s. 6 ~ + 1 ; + 4 ~ + 3 ~ . ·85 + 1.25 + 3 15 
6. 25.l + .i_ + 1 1 . 

4 5 4 + 2 -7, 8 + 3m ;- 4 8• 15+5f+7 5 
JO, 5(7u) 11. (8n)(ll) 9, 9 + 6w + 3 
t3, (3p)(4q)(Sr) 14. (2x)(5k)(7l) 12. (4b)9 

IS. (l0w)(3h)(2m) 

SiJ:JJplifY. If necessary, draw a number Jin 
16, (-4 + 8) + 9 e to help you. (2-2) 

JS. [16 + (-21)) + 4 17- (-7 + 10) + (-3) 

zo. lD + (-7)1 + (-8 + (-22)] 
19

· [-5 + (-13)] + 6 
222. -3 + (-4) + (-9) 1. [27 + (-7)] +Jl + (- l)] 
23

24. -7.2 + (-3.5) + 10.7 · (-S) + (-8) + (-6) 
25• 5.4 + (- 3.1) + (-7.9) 

Add. (2-3) 
26. 9 + 8 + (-3) + 4 27. -6 + ( -7) + 10 + 2 
28. 112 + (-32) + (-40) + (-25) 29. -265 + (-88) + 105 + 95 
30. - [24 + (-8)] + [-(-4 + 6)] 31. [-9+(-2)]+[-(-9+2)] 

Evaluate each expressio•, h ,rt·1-· "",. :-- 2 , y -_ - 5, and z = 3. (2-3)
\ 

32. -8 + X + ( -y) 33. -z+y+(-4) 34. 1 + ( - x) + z 

35. /x + y + zl 36. x+(-z)+(-12) 37. -tz + (-y) + x\ 

(2-4, 2-5)Simplify. 

40. -18-:- (-5) 41. -27 - 5638. 48 - 218 39. 53 - (-47) 
43. 186 - (40 - 69)42. 133 - (62 - 59) 
45. (54 - 32) - (-8 + 13)44. (33 - 44) - (66 - 77) 
47. -18 - 7- [-6 - (-11))

46. [14 - (-8) - [6 - (-3)] 
49. y - (-4) - [y + (-4)} - 4

48• 6 + X - (6 - X) - X 

52. !(16 + 12)
51. 1(24) + ; (16)so. 30(~ + ~) 

55. (16 X 58) - (6 X 58)54. (37 X 22) - (7 X 22)
SJ. (0.25)(34) + (0. 75)(34) 58. 53n - 110n

51. 15q + (-8)q
S6, 14m + 7m 61. 7(c + 3) +6 

60. 3u + 1u + 859, 19a =- 31a ....____....,,..--..,,,_...,,.,_.,______________'E~x:;;t,-:;;a1p;;,;.ac-;:;·ti;;.c;;e-~64ii11~ 



(2-s, 2-<>) 

Simplify. 63. 8(j - 4) + 17 64. 23 + 6(t - 2) 
62. 26 + 4(h + 3) 66. (-5)m + 3 + 13m + 17 

65. 5x + 9 + 3x + 11 68. 4h + 8k + (-2)h + 12k 

67. I4u - 8 - 12u + I 3 70, }Ox+ 14y - 6x - 3y 

69. 9f+ 3g - 7f + 7g 72, 38(-2) 73. (- 4)45 
71. ( -27)(-5) 75. (-5)(-9)(-3) 76. ( - 13)(-14)(0) 
74. (-8)(-6)(30) 78, -3(-2-9) 79• (-17+6)(-l) 
77. 5(-4)(-12)(-2) 81. [27 X (-5)] - (27 X 5) 
80. (-6 X 13) + (-6 X 15) 83. 7(-m + 6p)
82, - 16 X ( - I) - [ - 16 X ( - 11)] 

85. - 4(6n - 9v) 
84. --:- 5(2u - h) 87, 4 - t - 8 - 7t 88. - I+ 9 + 61 - 4 
86, - X + 7 + 6x - 5 90. -4(2u + v) + S(u - v) 
89. 3(x + 4y) + (-4)(8x - y) 

92. 7(e - J) - 3(2e - 3f)
91. -2(3c + d) - 3(5d - c) 

(2-7)Write an equation to represent the given relationship among integers. 

93. The sum of three consecutive integers is 75. 

94. The sum of three consecutive odd integers is 87. 

95. The sum of three consecutive even integers is 138. 

96. The product of two consecutive integers is 156. 

97. The greater of two consecutive odd integers is eight more than three times 

the lesser. 
98. The smaller of two consecutive even integers is one les:s than half of the 

greater. 

Simplify each expression. (2-8, 2-9) 

1 1 1
99. -11(55) 100. -sooo( ) 101. -9(-63)50 

/ 104. 6uv(- ~)102. 112(-~)(-~) 103. -1 (80) ! 
1106. -(3mn) m "'F O 
m '/ 

105. 44xy(!) 107. (8fg)(}), f ~ 0 
I108. 5 (-35a + 15) 109. (27h - ;is)l

3 110. -!(-32e+40f) 

111. (42x - 63y)(- ~) 112. /2 (-480 - 144m) 113. (-50p - lOOq)(- 1
1
0) 

114. -392 + 56 115. 216 + (-27) 116. 55 + (- ~) 117. 0 + (-29) 

)18. -3i6 119. _L 120. -=.!1 01 1 121. t 
5 4 -1 

-16~4122:°~E~xditr~a~PPir~a~ct;ic~e~---------~~------~~-
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J68m
122. --::}2\,, 

125 - 253u
I 1z6. - l; ( - 17) - ~ . u~o 
I. 

Chapter 3 

5oJve. Check your answers. 

J. a - 13 = 17 (3- t, 3-2, 3-3)
2, C + 8 ::::: 22 

4. y + 14 = - 33 
S. 15 + h -

- O ·
. 3. s - 20 = - 12 

6. 0 = k - 13
1. J - 4 = /161 

s. g + 7 ::::: 1-21 
9. -x + 6 = 9

10. 23 - y = 47 II. - 5 - rn ::::::. 7 
12._13 =-q +8

J3. (e + 4) + 3 = 9 
14. 6 ::::: 10 + (

n + 3) 
15. - 5 + (1 + z) = 8 

J6. 13u = 338 17. -396 =::::. 22a 

') 
18. - ,I2x == - 444-

19. 126 = - 9w 

20. ; t = 13 21. l.h -- - 8 . 23. - 10 = - ..!.m8 
5 

24• -42 = ~7 25. - ~ ::::: 32 26. - .!!!-_ - o 27. - .!!!. = - 40
27 - 3 

< 30. 1-v == 2l. . '-- 31. 31- = ..!.u28. 4x = - ; 29. - ~ = - 9z 
4 4 2 2 

32. 5k + 8 = 43 , 33. ·1h ·_ 6 = 36 34'. ~ 3 + 3m = - 45 · 

36., 9v-:-- 5v = 44 , 3_7. 3:c - 8c.= 65
35. 2n + Bn = BO . ' · 

39. - ; - 2 = 7 4?,=-::g-5 u-+ 15 = O
38. ; + 9 = - 11 

5 - 6x = ·-:5 42. ·o f:. y - 14 - 3y- ' 43. ~ + 3e + 4e = 48 

41. X -

44. 5(k + 3) = ...... HJ 45. -1(n - 6) == 12 46(- 2(v + 7) - 9 = 19 

Solve each problem using the five-step plan to help y~u. . 

47. The sum of 37 and three times a number is 67. Find the ·number. 

48. Four times a number, decreaseiby 24, is - 20. Find the number. 

49. The perimeter of a rectangle is 108. If the length is 33, find the width. 

SO. A large bucket holds 3 L more than twice as much as a small bucket. It 

took 2 small buckets and 5 large buckets to fill a 63 L tank. How much 

does a large bucket hold? 

·ct ?51. The lengths in meters of the sides of a triangle are consecutive even inte-

' ' 
$122 more than his younger brother's ac-

gers. The perimeter is 18 m. How long are the st es · 

· h account 

ruce s savmgs account contams .
52 B , . ·

. 
count. Together, they have $354. Fiod the amount 10 eac 

Extra Practice 
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~•tra Pract·ICe•• Proble111 Solving
Chapter 1 

vse the five-step plan to. . solve eachJ. A train 1s trc1veJing Problem.in 2.5 h? at an average sna..~t--.u of 90 1,_11.. (l-7)z. If a number is deereased by 27 "-1.ll/a , How far wlll. .it travel3. A !ootball team finh.hed .tw1ce as many game 
• the result is 36 .

s as Jt~tslo12-gamc ~ ..~ . · Fmd the numbe4. A store sold 102 reco d 
~ 0 with r . 

bums were sold the 
r alb st . How many gamesnod1.dties. The team wonurns during a tthe first day? the team win?second day as the firswtoH•day sale. Twice as m ·· ow m any al·5, If three times a number . . any albums were soldnumber. is mcreased by 11 th• e result 1.s 68 F6. A bank contains 57 . kn1c els dthan quarters and 5 ' · md the

bank? more n1~cktmI es. and quarters. Thes than dimes. How ere are 8 ·more dimesmuch money is in the 

Chapter 2 

(2-3)
I. 

all 
A
ac

foocball
Hto ti,e. 

?•:
:·.:
.: : ! 

o
-ea

l
, in
sc

e
nmma
d. 23 yd

ge 
on
and

one
then

play.
the 

H
t 

oweve
. 

r. the ball w b h 
b· k I . 

. as roug Ieam was given a 15 yd pen-y. o" .,..: \~ :.l the ball from where it would have bebeen asscs,cU : 
en had no penalty

2. An ekvatoi k ft the twenty-sixth floor of a building and went up eightfloors, th~n Ol)\\ ' ll twelve, and bal:k up four. On what floor was the eleva-
tor then?

3. At the beginning of the month the Cr.lileShad $250 in their vacation fund.They were able 10 add S10 Jl<!C week for four weeks. Then they had to takeout $85 for emergency bouS<:hold repairs. How much was in the fund at
the end of the month?4. A neighborhood association collected $85 in dues, earned $280 at a garagesale, and got $124 in donations. Toe association needs $500 10 build a
playground . How much more must it collect?~ A 8·()() n· h f;,. . n . A .M. 

Boston to MinneaPolis took three hour.i. The time1g t rom . th· Boston What ome was 1t m. · · M.mne-m ~1inneapolis is one hour ear11er an ·
apoliP) wh~n the flight arrived? Extra Practice 665 
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. A ductor is walking toward . f 100 km/h. con . 
6 A train is traveling at the rate o . the conductor's speed relative to

• . 5 km/h What 1sthe back of the tram at · 
the ground? 

Solve. . _ 246 09 ° c. Find the difference 
- 248 6 10 C and botls at . . 

I . Neon freeze~'- at_ . . . t and the freezing point. 
between the boiling P

0111 
• . M t wt,itney at 44 I8 m above sea• · c f'f1 0 11ia ts oun · 

2. The highest pomt m. 3 
_ ' , . 11 at 86 m below sea level. Find the 

kvel. The lowest J)(>lllt is Death ✓a ey 

difference in altitude. M· in Street from a point 16 blocks
1

3. A candidate gc~s door to do~r. a tmg oil~t l 2 blocks east of headquarters . 
. . ' I of cam1Ja1 gn he.adqua11e1s to a pwes t ~ ? 

How many blocks has she gone. . 
. ,- . d f longitude between Chicago at about4. Find the d1tterence JO egree~ 0 · 

880 w and Rome at about 12 E • . 

5. Mount Everest at 8848 m above s1ea level is 9245 m higher than the Dead 
Sea. Find the altitude of the Dead Sea. . 

6 One winter day the temperature in Marshview reached a record high of 
• 18 _3o c. That was 22.7° c higher than the average temperature for that 

day. Find the average temperature. · · 

Chapter 3 

Solve. 

1. A number increased by 13 is -5. Find the number. 

2. A glass of milk costs 70¢. If a glass of milk and a sandwich cost $2.50, 
how much does the sandwich cost? 

3. Fifteen less than a number is 43. Find the numher. 

4. A plane flew 145 km/h faster whein it was flying \\'ith lh;,;, wind than it 
would have flown in still air. If its speed with the 1,viutl was 970 km/h, 
find the speed of the plane in still air. 

S. The Booster Club had $425 in its ltreasury. The members earned $642 sell­
ing refreshments. They donated $320 to the football team for bus rentals. 
How much money did they have left? 

6. Seventy-six tickets were sold in advance for a museum field trip. Thirteen 
tickets were sold the day of the triJP. Seven people had to return their tick­
ets and did not go. How many people went altogether? 

Solve. 

1. The opposite of seven times a number is 238. Find the number. 

2. One fourth of a number is 73 , Find the number. 

3. A 2.5 kg bag of apples costs $1 .40. Find the cost per kilogram of the
apples. 

666 Extra Practice 
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_.e,a Practice: Skills 

, 11,.pter 1 

Sifflplit:Y each expression. 

1. 5 + (4 X 8) 37 2. (3 + 7) X 2 20 U-1, 1-2) 
.• n + 4) - (9 - 5) 6 5 (30 + 3, (30 X 3) + (S x 2) 100 

4. (:'tV • 3) X (4 + 2) 198 
1, 9 + 7 - 2 X 8 + 4 12 8. 32 + 8 +3 X 7 - 6 19 6, (40 - 4) + (9 - S) 9 

. . 9, 4 X 6 - 16 + 2 + 7 23 
t)18fuate each exp~ton if e =2, J =3 = 4 _

' g ' u - O, v = 5, and w = 1. U-1, 1-2) 
10. ev - f 7 11. 5g + 4w 24 
13, w(v - J) + g 6 14. (3g) . (e + u) 24 12. (uv) + (Jg) 12 

16. (e +f)(g + v) 45 17. e(u + v - w) 8 15. (v - u)w + g 9 
18. (4e - 2/)(v + w) 12 

e + g 3 20. gv - Se 2 
i9. -;-1 5 - 3u 21. /(we + v) + J_ 23 

e 

So)ve each equation if x E {O, 1 , 2, 3, 4 , s, 6}. Cl-3)
{O, 1, 2, 3. 4, 5, 6}

22, 7 + X = 12 {5} 23. X - 4 = 2 {6} 24. 8 - X = 3 {5} 25. X - X = 0 

26. 6x = 18 {3} 27. 0 = 5x {O} 28. 8x = 32 {4} 29. X • X = 36 
{6}

1 Sx30. X • X = 1 {1} :n. ·½x = 2 {4} 32. 3 x = 2 {6} 33. x • x = 
{O, 5\ 

JS., J5 = 9x - 3 {2} 36. 4x = X • 4 37. x(9 - x) = 034. 3x + 9 = 26 ~ 
{O, 1, 2, 3, 4, 5, 6} {O} 

(1-4)Translate each phrase into a variable expression. 

38. Three more than twice the number m 2m + 3 

39. Four less than half the number z ~ z - 4 

40. Two more than eight times the number k Bk + 2 

41. The difference of five times a number wand one 5w - 1 

42. Three times the sum of a number h and six 3(h +6) 
(1-4) 

Complete each statement with a variable expression. 

43. In x weeks there are -1- days. 7x 

44. In y yards there are -1- feet. 3Y ·t ? years old. x - 4
145· A house is x years old. Four years ago was --. h Tony Ray weighs _'L lb. w +7 

46• Tony weighs w lb. Ray is 7 lb heavier t an · . th . , If my car is n years old, en 
47• My car is 5 years older than my stSler s car. 

her car is _.1_ years old. n - 5 Extra Practice 639 



In Exercises 48-50, t th number described by the words in 
a. Choose a variable to represen e 

_parentheses. ts the given information. 
b. Write an eqoadon that represen . . 

il costs $1.39. (Cost of one pencil m cents)
48. A package of a dozen penc s . . 8· c b. 12c _

(Length of a side m meters) 8 s b 4s _ - 1.39 
49. The perimeter o f a sqUare is 52 m 

· · • - 52 
• 1·ted guests crune to the party. (Number of guests at so. All but 5 of the 34 mv 

the party) a. g b. g + 5 = 34 

Translate each problem Into an equation. Drawing a sketch may help you. 
0-6) 

SI. Henry is 4 years older than Celia. If the product of their ages is 140, find 
e.ach person's age. Let x = Celia's age; x(x + 4) = 140 

52. The length of a rectangle is 5 cm more than its width. If the area of the 
rectangle is I76 cm2 find the dimensions of the rectangle.

Let x = width of rectangle; x(x + 5) = 176 

Solve using the five-step plan. Write out each step. A choice of possible n-7) 
numbers for one unknown is given. 

53. The number of tickets Cynthia sold is 12 less than half the number Holly 
sold. Together they sold 114 tickets . How many tickets did each sell? 
Choices for the number Holly sold: 68, 72, 84 Cynthia, 30; Holly, 84 

54. Jim weighs 40 lb more than Stephanie. Stephanie weighs three fourths as 
much as Jim. How much does each weigh? Choices for Stephanie•s weight: 
100 lb, 118 lb, 120 lb Jim, 160 lb; Stephani{:3, 120 lb 

Write a number to represent each situafo)n. T!kn write the opposite of (1-8) 
that situation ~d write a number to repr~~~~t ~t. 

400; 400 ft below sea level; - 400 · ·-50; a deposit of $50; so 
SS. 400 ft above sea level 56. A bank withdrawal of $50 

S7. Ten losses -10; ten wins, 10 58. Seven floors up 7; seven floors down, - 7- Graph the given numbers on a number line. (1-8) 

59. 5, -2, ~ , 3, -4 60. - 3, 0, 1, - 2.5, 2 

Simplify. (1-9) 

61. -(7 - 4) - 3 62. (-(-8)] + 10 18 63. 3+[-(-6)] 9 64. 2 + 1-9111 

65. j-31 + 101 3 66. 161 - 161 o 67. 1-3.21 + 1- 0.81 4 68. 1-4.11 + '\:l 
Replace each -1_ with one of the symbols < or > to make a true (1-9) 
statement. 

69. 9 - 8 _?_ - I > 70. 7 ......L 6 + 5 < 71. \O\....Ll < 
72. -4.3 -L -4.4 > 3 ? _1.73. -(7 + 3) ......L 1-141 < 74. --::,~ 7 

r~~~~;;;;;z:;;--------------~-<640 Extra Practice 



,ta•Pter 2 

SifllplifY• 
237 + 75 + 13 + 25 3501, 

(2-1) _o.z + 16.4 + 2.s + 0.6 20 2. 456 + 29 
3 + 44 + 21 550

4. 3 75 + 43 12+45+351 16 . 3 .85 + 1.25 + 3.15135. 6g+ 7 8 
6. 25- + .i + l l 

4 s 4 + 2529?. 8 + 3m -t- 4 3m + 12 
8. 15 + Sf+ 7 5f + 22 

tO. 5(7u) 35U ll. (8n)(ll) 88n 9• 9 + 6w + 36w + 12 
• (3p)(4q)(5r)60pqr 12. (4b)936b13 14• (2x)(5k){7l)70k/x 

lS. 00w)(3h)(2m)60hmw 

SilllPlifY. If necesAry, draw a number line to h e1p you. 
(2-2)

16. (-4 + 8) + 9 13 17 _ 
is. £16 + (-21)1 + 4 - 1 19. <[ 7 +to)+ (-3)o 

· - 5 + ( - 13)] + 6 - 12 
20. [O + (-?)] + [-S + (-22)1 - 37 21. [27 + (-7)] + [1 + (-1)]20 

1622. -3 + (-4) + (-9) - 23. (-5) + (-8) + (-6)-19 

24. -7.2 + (-3.5) + 10.7 0 25. 5.4 + (-3.1) + (-7.9)-5.6 

Add. (2-3) 

26. 9 + 8 + ( - 3) + 4 8 27. -6 + (-7) + 10 + 2 - 1 

28. 112 + (-32) + (-40) + (-25) 15 29. -265 + (-88) + 105 + 95 - 153 

30. -[24 + (-8)] + f-i-4 + 6)] - 18 31. (-9 + (-2)] + (-(-9 + 2)} - 4 

(2-3) Evaluate each expression if x = 2, y = -5, and z = 3. 

32, -8 + X + (-y) - 1 33. -z + Y + (-4) - 12 34. 1 + (-x) + z 2 

37. -lz + (-y) + x\ - 1035. Ix+ y + zl o 36. x + (-z) + (-12) - 13 

(2-4, 2-5) 
Simplify. 

41~ -27 - 5640. -18 - (-5) - 13
38. 48 - 218 - 170 39. 53 - (-47) 100 - 83 

43. 186 - (40 - 69) 215 
42. 133 - (62 - 59) 130 

45. (54 - 32) - (-8 + 13) 17 
44. (33 - 44) - (66 - 77) 0 47. -18 - 7 - {-6 - (-11))- 30 
46. [14 - (-8) - [6 - (-3)] 13 49. y - (-4) - [y + (-4)) - 4 4 
48. 6 + X - (6 - X) - X X 

52 l(l6 + 12) 7
• 4 58051. ~ (24) + ~ (16) 8 so. 30(~ + 1) 15 55. (16 X 58) - (6 X 58)

54. (37 X 22) - (7 X 22) 660 
SI. 53n - 110n - 57nS3. (0.25)(34) + (0.75)(34) 34 

57. l5q + ( -S)q 7q 61. 7(c + 3) + 6 7c + 27 56. 14m + 7m 21m 60. 3u + 7u + 8 1Ou + 8 
S9. 19a - 37a 42a Extra Practice 641 
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(~s i. 
Simplify. _ S(j _ 4) + 17 Bj - 15 64. 23 + 6(t - 2) St,_' 6)

63
62. 26 + 4(h + 3) 4h + 38 66. ( - 5)m + 3 + 13m + 17 8m + 20 11 

65. 5x + 9 + 3x + 11 ax + 
20 

68. 4h + 8k + (-2)h + 12k 2h + 
20

k 
5 

67. 14u - 8 - J2u + 13 2u + 70. tox + 14y - 6x - 3y 4x + 11y
10 

,,. 9/+ 3g - 7/+ 7g 2' -i g 
72

• 38(-2) - 76 73. (-4)45 -,80 
71. (-27)(-5) 135 ?S, (-S)(-9)(-3) - 135 76. (-13)(-14)(0) 
74. (-8)(-6)(30) 1440 79 ( l 

0 

77. 5(-4)(-12)(-2) - 480 78. -3(-2 - 9) 33 • - 7 + 6)(-1) 11 
80. (-6 X 13) + (-6 X 15) 168 81. [27 X (-5)] - (27 X 5) -270 

Bl. -16 X (-1) - [-16 X (-11)] -160 83. 7(-m + 6p) - 7m + 42p 
85. -4(6n - 9v) - 24n + 36v 

84. -5(2u - h) mu + Sh 5/ + 5 
8'. -x + 7 + 6x _ S sx + 2 87. 4 - t - 8 - 7t - Bt - 4 88. -l + 9 + 61 _ 4 

89
_ J(x + 4y) + (-4)(8x _ y) - 29x + 16y 90. -4(2u + v) + 5(u - v) - 3u _ 9v 

91. _ 2(3c + d) _ 3(5d - c) - 3c - 17d 92. 7(e - f) - 3(2e - 3f) e + 2f 

Write an equation to represent the given relationship among integers. (2-7) 

93. The sum of three consecutive integers is 75. x + (x + 1) + (x + 2) = 75 

94. The sum of three consecutive odd integers is 87. x + (x + 2) + (x + 4) = 87 

95. The sum of three consecutive even integers is 138. x + (x + 2) + (x + 4) = 138 

96. The product of two consecutive integers is 156. x(x + 1) = 156 

97. The greater of two consecutive odd integers is eight more than three times 
the lesser. x + 2 = 3x + 8 

98. The smaller of two consecutive even integers 'i~ one less than half of the 
greater. x = ~ (x + 2) - 1 

Simplify each expression. 
(2-8, 2-9) 

99. -TfI (55) - 5 100. -sooo(
5
~) - 100 101. - 9(1 -63) 7 

102. 112(-;)(- ~) 8 103. -.1(80)1_ 4- 104. 6uv(- !) - uv5 4 

lOS. 44xy(~) 11xy 
l06. ~ (3mn), m ~ O 3n 107. (8/g)(}), f # 0 8g 

108. ~ (-35a + 15) - 7a + 3 Be - 10f 
109. (27h - 18); 9h - 6 110. - !(-32e + 40/) 

111. (42t - 63y)(-l) l 1 ( 1)
7 -6x + 9y ll. 12C-4so

40 
~im) 113. (-SOp - lOOq) - 10 

114. -392+56-? m 5p+10q115 216 
. + (-27) - a 116. 55 + (- !) -275 117. 0 + (-296 

118. ..:12. 216 
1 119. -L -40 12 
6 I 120. -=- -48-5 1 

642 E 4 



~-14m 123. 25~ _ 63 

tZZ· -12 -8 2 a 

125. -2S3u 11.-_f_(-17) C 127. -9 . X9-x -23u • u 'F 0
tZ6• 11 

129. _ 3Sh ( -3)5h 

, 11,pter 3 

soive, check your answers. 

J. a - 13 = 17{30} 2. C + 8 =22{14} 
(3-l, 3-2, 3-3) 

3. s - 20 = -12{8), . y + 14 = - 33 {-47} 5. lS+h=0{-15} 
6•0=k-t3{13}1. 1- 4 = 1161{20} s. g + 1 = 1-21 {-5} 
9. -x + 6 = 9 { 31,o. 23 - y =47 {-24} 11. -5 _ m = 1 {-12} 12. 13 = -q + 8 {-5\

13, (e + 4) + 3 = 9 {2} 14. 6 = 10 + (n + 3) {-7} lS. -S + (1 + z) =8 {12} 

J6. 13U =338 {26} 17. - 396 = 22a {-18} 18. -12x = -444{37} {-14}19. 126 = -9w 

20, ~ t = 13 {91} 21. ~ h = -8 {-64} 22. 11 = _ 1 v {- 44} 23. -10 = -lm4 5 
{50}

Z4. -42 = ; {- 294} 25• - ~ = 32 {-128} 26• - ; = O{O} 27. _m = -40 
3 {120} 

28, 4x = - ; {- 1~} 29. - ~ = - 9z {! } 31. 3_l = l.u {7}
2 2 

32. 5k + 8 = 43 {7} 33. 1h - 6 = 36 {6} 34. -3 + 3m = -45 {-14} 

36. 9v - 5v = 44 {11} 37· 3c - 8c = 65 {-13}35. 2n + Sn = 80 { 8} 
s39. - ; - 2 = 7 {-27} 40. 6 u + 15 = O {-18} 38. ; + 9 = - 11 {- 100j 

42. O = y - 14-3y {-7} 43. e + 3e + 4e = 48 {6}41. X - 5 - 6,x = -25 t4} 

45. - 3
4 (n-6)=12 {-3} 46, 2(V + 7) - 9 = 19 {7}

44. 5(k + 3) = -10 {-5} 

(3-4) 
Solve each problem using the five-step plan to help you. 

47· The sum of 37 and three times a number is 67 . Find the number. 10 

48· Four times a number, decreased by 24, is -20. Find the number. 1 

49· The perimeler of a reclJIDgle is 108. If the length is 33, find the width. 21 

SO, A large bucket holds 3 L more than twice as much as a small bucket. It 
took 2 small buckets and 5 large buckets to fill a 63 L tank, How much 

does a large bucket hold? 11 L 
SI. The lengths, in merers, of the sides of a triangle are consecutive8even inte--

4 6 
gers. The perimeler is 18 m. How Jong are the sides? m, m, m 

S2. B , . . $ t"'""' bis younger brother's ac-
122ruce S savings account contatnS morec amountuau in each account.F' d th 

ount. Together, they have $354. 10 iruce, $238; brother, $116 643Extra Practice 



.,-• Practice: Problean Solving 

c;1t•Pte' 1 
fbe fi-ve-step plan to solve each problemvse 
A IJlUn is traveling at an average 

speed of
' 
90 krnih. How far will it trav 1 (1-'7) 

1• ·•a 2.5 h? 225. km 
e 

1 • 
Jf a number 1s decreased by 27

' 
the result is 36

· Find the number.
63

• 

me season w. h,. A football team finished its 12-ga 
,J• tt no ties. The team won11 

(Wice as many games as it lost. How 
• 

many games d'd1 

. mesthe team win? e ga 
A store sold 102 record albums durmg a two d 1, Id th - ay sa e. Twice as many al-

• 
t,urns were so e second day as the f

irSL How many albums were sold 
the first day? 34 albums 

5
• Jf three times a number is increased by ll, tbe result is 68. Find the

number. 19 

6· A bank contains 57 nickels ' dimes, and quarters
· 

Th
ere are 

8 
more dimes 

than quarters and 5 more nickels than d'
imes. How much money is in the 

bank? $6.25 

Chapter 2 (2-3) 

Solve. 
1. A football te~m gaiJK<: 23 yd on one play. However, the ball was brought 

back to the hne of scrunmage and then the team was given a 15 yd pen­

alty. How far was the hall from where it would have been had no penalty 

been assessed? ~, yJ 

2. An elevator left the twenty-sixth floor of a building and went up eight 

floors, then down twelve, and back up four. On what floor was the eleva-

tor then? 26th floor
3. At the beginning of the month the Cranes had $250 in their vacation fund. 

They were able to add $10 per week for four weeks. Then they had to take 

out $85 for emergency household repairs. How much was in the fund at 

the end of the month? $205 

· A neighborhood association collected $85 in dues, earned S280 at~ garage 

4 sale, and got $124 in donations. The association needs $500 to build a 
11 

.
playground. How much more must it collect? $ 

mne-S. An 8:00 AM flight from Boston to Minneapolis took~ hou~- _ThMe_time 
1· th Boston What time was it m

. . . 

ln Minneapolis is one hour ear ter an · 
Extra Practice

apolis when the flight arrived? 1O:OO A.M. 



A conductor is walking toward 
. . r at the rate of 100 ~th· onductor's speed relative to

6. A tralll IS trave ID~ 5 km/h. What IS e C 
the back of the tram at 
the ground? 95 km/h 

Solve. . -246.09° C. Find the difference 
8 610 C and boils at 2" C

1 Neon freezes at -24 . . d the freezing point. 2.5 
• ·ting ""tnt an 18 bobetween the boa r M t Whitney at 44 m a ve sea 

The highest point in California '"va1fun at 86 m below sea level. Find the2
• I l The lowest poiht is Death ey 

eve· , d 4504 m 
difference in alutu e. Main Street from a point 16 blocks1

3 A candidate goes door to door a ong int 12 blocks east of headquarters.
• . headquarters to a po 

west of cam= has she gone? 28 blocks 
How many b . f Ion itude between Chicago at about 

4- Find the difference 10 degrees0 ° 50 
0880 Wand Rome at about 12 E. 1 

level is 9245 m higher than the Dead 
5. Mount Everest at 8848 m above dse; 397 m below sea level 

Sea. Find the altitude of the Dea ea. . 
. Marshview reached a record high of6 One winter day the temperature m f h 

• 22 70 C h'gher than the average temperature or t at18.3-0 C. That was • 1 

day. Find the average temperature. - 4.4
0 

C 

Chapter 3 

Solve. (3-1) 

I. A number increased by 13 is - 5. Find the number. - 18 

2. A glass of milk costs 70¢. If a glass of milk and a sandwich cost $2.50, 
how much does the sandwich cost? $1 .80 

3. Fifteen less than a number is 43. Find the rn.im~~r 5P. 

4. A plane flew 145 km/h faster when it was fsym~ with the wind than it 
would have flown in still air. If its speed with tbc wind was 970 km/h, 
fmd the speed of the plane in still air. 825 km/;-, 

5. The Booster Club had $425 in its treasury. The members earned $642 sell­
ing refreshments. They donated $320 to the football team for bus rentals. 
How much money did they have left? $74 7 

6. Seventy-six tickets were sold in advance for a museum field trip. Thirteen 
tickets were sold the day of the trip. Seven people had to return their tick­
ets and did not go. How many people went altogether? 82 people 

Solve. (3-2) 

1. The opposite of seven times a number is 238. Find the number. - 34 
2. One fourth of a number is 73. Find the number. 292 

2 5J. A - kg bag of apples costs $1.40. Find the cost per kilogram of the
apples. 56¢ 

666 Extra Practice 
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